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ĐỀ THI GỒM 6 PHẦN. ĐỌC KỸ HƯỚNG DẪN TRƯỚC KHI LÀM. 

 

PHẦN TRẮC NGHIỆM (4.5 marks) 

SECTION 1 (1.5 mark) 

Identify each of the following sentences as analytic, synthetic, or contradiction. (0.1 

each) 

Mammals are animals. This is a(n) ____. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

Elephant is a plant. This is a(n) ____. 

A. contradictory sentence  

B. analytic sentence 

C. synthetic sentence 

ANSWER: A 
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Light allows things to be seen. This is a(n) ____. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

Humans will invent a machine that can travel faster than light. This is a(n) ____. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

Light travels faster in air than in water. This is a(n) ____. 

A. synthetic sentence 

B. contradictory sentence 

C. analytic sentence  

ANSWER: A 

Omnivores naturally eat both plants and meat. This is a(n) ____. 

A. analytic sentence 

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

Since we were born omnivores, omnivorous diet is best for all of us. This is a(n) ____. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

Emma is the only child in her family. This is a(n) ____. 
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A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

Since Emma is the only child, she hates sharing toys with her sibling, Andy. This is a(n) 

____. 

A. contradictory sentence  

B. analytic sentence 

C. synthetic sentence 

ANSWER: A 

Emma is two years older than Andy. This is a(n) ____. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory sentence 

ANSWER: A 

My mother’s sister is my aunt. This is a(n) ____. 

A. analytic sentence  

B. synthetic sentence 

C. contradictory sentence 

ANSWER: A 

My aunt is male. This is a(n) ____. 

A. contradictory sentence  

B. analytic sentence 

C. synthetic sentence 

ANSWER: A 

Pine trees are evergreen, and they lose their leaves every autumn. This is a(n) ____. 

A. contradictory sentence 
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B. synthetic sentence 

C. analytic sentence 

ANSWER: A 

An evergreen tree remains beautiful all year round. This is a(n) ____. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory 

ANSWER: A 

Pine trees are the most popular trees used for Christmas decorations. This is a(n) ____. 

A. synthetic sentence 

B. analytic sentence 

C. contradictory 

ANSWER: A 

 

SECTION 2 (2 marks) 

What kind of speech act is performed through making each of the following 

utterances? (0.2 each) 

"Could you help me with my homework?" 

A. Directive  

B. Declarative 

C. Expressive 

D. Representative  

E. Rogative 

F. Commissive 

ANSWER: A 

"I'll be there on time for the meeting." 

A. Commissive  
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B. Directive  

C. Expressive 

D. Representative  

E. Rogative 

F. Declarative 

ANSWER: A 

"You look stunning with that new hairdo." 

A. Expressive  

B. Directive  

C. Commissive 

D. Representative  

E. Rogative 

F. Declarative 

ANSWER: A 

"How much did you score in that spelling contest?” 

A. Rogative  

B. Directive  

C. Commissive 

D. Representative  

E. Expressive 

F. Declarative 

ANSWER: A 

"The lowest temperatures in Norway can be -51 degrees Celsius.” 

A. Representative  

B. Directive  

C. Commissive 

D. Declarative  
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E. Expressive 

F. Rogative  

ANSWER: A 

“How about a barbecue tonight?” 

A. Directive  

B. Expressive 

C. Commissive 

D. Representative  

E. Declarative  

F. Rogative  

ANSWER: A 

"You think I’m your fool again?” 

A. Expressive  

B. Directive  

C. Commissive 

D. Representative  

E. Declarative 

F. Rogative  

ANSWER: A 

“Why are you looking at me that way?” 

A. Rogative  

B. Directive  

C. Commissive 

D. Representative  

E. Expressive 

F. Declarative  

ANSWER: A 
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"The court, having considered the evidence presented, hereby imposes the penalty of 

death upon the defendant.” 

A. Declarative  

B. Directive  

C. Commissive 

D. Representative  

E. Expressive 

F. Rogative  

ANSWER: A 

"I’ll call you back later.” 

A. Commissive  

B. Directive  

C. Declarative  

D. Representative  

E. Expressive 

F. Rogative  

ANSWER: A 

 

PHẦN TỰ LUẬN (6.5 marks) 

SECTION 3 (1.5 marks) 

What is implied in the following utterances? (0.3 each) 

Question 1: A: “Did you invited everybody in the class to the party?” 

        B: “I’ve sent the invitation cards to Jim and Jenny.” 

What may B’s response implicate? 

Đáp án câu 1: B did not invite everyone to the party, implying that some people were 

left out. 

Question 2: A: “Do you want a piece of my homemade mango cheesecake?” 

        B: “My doctor said the other day that I had type two diabetes.” 
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What may B’s response implicate? 

Đáp án câu 2: B may implicate that he won’t have the cheesecake due to his health 

problem. 

Question 3: A: “Are you ready to go out bae?” 

        B: “Don’t you see I’m trying to draw a perfect eyeliner?” 

What may B’s response implicate? 

Đáp án câu 3: B may implicate that she isn’t ready to go out because she is doing her 

makeup. 

Question 4: A: “What’s the new intern like?” 

        B: “Well, it took me all morning just to show him how to use the copy 

machine.” 

What may B’s response implicate? 

Đáp án câu 4: B may implicate that the new intern is slow and inexperienced. 

Question 5: A: “Can you buy me that toy car mom?” 

        B: “Do you want to open a toy car showroom?” 

What may B’s response implicate? 

Đáp án câu 5: B may implicate that she won’t buy her kid the toy car because he has 

already had a lot at home. 

SECTION 4 (1.5 marks) 

Complete each of the following sentences in such a way that is an ENTAILMENT of 

the sentence printed before (→ is used to show one-way entailment and ↔ to show 

two-way entailment). (0.3 each) 

Question 1: George owns this house.  

↔   This house ---------------------------------------------------- 

Đáp án câu 1: ↔ This house belongs to George. 

Question 2: The man is standing in front of me.  

↔   I ---------------------------------------------------- 

Đáp án câu 2: ↔ I am standing behind the man. 

Question 3: I can type 60 words per minute and so can Ron.  
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↔   Both Ron ---------------------------------------------------- 

Đáp án câu 3: ↔ Both Ron and I can type 60 words per minute. 

Question 4: My close friend works as a barber.  

→   My close friend ---------------------------------------------------- 

Đáp án câu 4: → My close friend is male. 

Question 5: The lion killed the deer.  

→   The deer ---------------------------------------------------- 

Đáp án câu 5: → The deer is dead. 

 

SECTION 5 (1.5 marks) 

Identify the PRESUPPOSITION(s) in each of the following utterances. (0.3 each) 

Câu 1 (0.3 điểm): “The dessert is not that good.” 

Đáp án Câu 1: The utterance presupposes that the speaker has tried the dessert, and 

he has expected it to be good. 

Câu 2 (0.3 điểm): “Tim did not realize that his wife had cheated on him.” 

Đáp án Câu 2: The utterance presupposes that Tim has a wife, and his wife had 

cheated on him. 

Câu 3 (0.3 điểm): “Could you pass me the saltshaker?” 

Đáp án Câu 3: The utterance presupposes that the hearer is closer to the saltshaker,  

and that the hearer knows what the saltshaker is and where it is. 

Câu 4 (0.3 điểm): “I am going to buy a new laptop.” 

Đáp án Câu 4: The utterance presupposes that the speaker has a laptop, and he 

hasn’t bought any new one yet. 

Câu 5 (0.3 điểm): “I pretended to be sleeping then.” 

Đáp án Câu 5: The utterance presupposes that the hearer knows what time the 

speaker mentions, and that the speaker was not sleeping at that time. 

SECTION 6 (2 marks) 

Write your two OWN pairs of COMPLEX sentences with the same proposition and 2 

with different propositions. (2 marks) 

Đáp án: 2 pairs of complex sentences with the same proposition (1 mark; 0.5 each) 



BM-003 

 2 pairs of complex sentences with different propositions (1 mark; 0.5 each) 

 

Ngày biên soạn: 18/10/2023 

Giảng viên biên soạn đề thi: Trần Thị Mai 

      

Ngày kiểm duyệt:  24/10/2023 

Trưởng Bộ môn kiểm duyệt đề thi: TS. Nguyễn Hòa Mai Phương 

 

 

 
 


